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QUESTION 1

A network architect is troubleshooting the L2TPv3 tunneling security due to the untrusted nature of the underlaying
network. Which two L2TPv3 features does the architect deploy to address the ongoing issues? (Choose two.)

A. TCP MD5 authentication

B. control message hashing

C. CHAP authentication

D. control message rate limiting

E. asymmetric mutual authentication with PSK

Correct Answer: BC

QUESTION 2

While troubleshooting an AToM L2VPN service, a network consultant notices that the AC Layer 2 encapsulations are
different. Which action should the consultant take in order to make the MPLS L2VPN work?

A. tag-rewrite on the ingress and egress PE router

B. interworking IP configuration on the last PE router before label disposition

C. nonrouted interworking setup to properly translate only the Layer 2 information from the AC
D. interworking IP configuration on both the AC terminations on the PEs

Correct Answer: D

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_l2_vpns/configuration/xe-16-11/mp-I2-vpns-
xe-16-11-book/I2vpn-interworking.html

QUESTION 3

Which two statements describe primary differences between MPLS Layer 2 and Layer 3 VPNs? (Choose two.)
A. Layer 2 VPNs use IPsec tunneling, but Layer 3 VPNs use L2TPv3 tunneling.

B. Layer 2 VPNs use AToM, but Layer 3 VPNs use MPLS/BGP.

C. Layer 2 VPNs use BGP, but Layer 3 VPNs use VPLS.

D. Layer 2 VPNs use L2TPv3 tunneling, but Layer 3 VPNs use GRE tunneling.

E. Layer 2 VPNs use IPsec tunneling, but Layer 3 VPNs use pseudowires to provide tunneling.

Correct Answer: BD
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QUESTION 4

Which two BGP attributes prevent loops in a route reflector environment? (Choose two.)
A. cluster ID

B. local preference

C. origin

D. originator ID

E. AS_PATH

Correct Answer: AD

Reference: https://www.ciscopress.com/articles/article.asp?p=2756480andseqNum=10

QUESTION 5

DRAG DROP

interface GigabitEthernet0/1
switchport trunk allowed vlan none
switchport mode trunk
service instance 2 ethernet
encapsulation dotiq 10
xconnect 192.168.2.2 22 encapsulation mpls

Refer to the exhibit. Drag and drop the EVC configuration items from the left onto the correct descriptions on the right.

Select and Place:
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It denies globally defined VLANS from

SWHCRDOR HOde Tt egressing and ingressing the port.

It allows the port to operate

service instance 2 ethemet as an 802 1q trunk.

switchport trunk allowed vian none It classifies traffic under a defined process.

it allows the port to process VLAN 10 traffic

xconrect 192.168 .2 2 22 encapsulation mpls i Catice nstanta 2.

encapsulation dot1g 10 It defines the pseudowire parameters.

Correct Answer:

switchport trunk allowed vian none

switchport mode trunk

senvice instance 2 ethernet

encapsulation dot1g 10

xconnect 192.168.2.2 22 encapsulation mpls
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